
100 ;  𝑂𝑟𝑏𝑖𝑡

𝐸𝑎𝑟𝑡ℎ

250,000 𝑚

        𝐹௚= 𝐹௖

𝐺𝑀𝑚

𝑟ଶ
⎯⎯⎯⎯⎯= 𝑚𝑎௖

𝐺𝑀𝑚

𝑟ଶ
⎯⎯⎯⎯⎯= 𝑚

𝑣ଶ

𝑟
⎯⎯⎯

    
𝐺𝑀

𝑟
⎯⎯⎯ = 𝑣ଶ

        𝑣 = ඨ
𝐺𝑀

𝑟
⎯⎯⎯

⎯⎯⎯
 

        𝑣 = ඨ
6.67𝐸 − 11 × 5.98𝐸24

(6.38𝐸6 + 250000)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯
 

        𝑣 = 7756.338
𝑚

𝑠
⎯⎯

; 𝑚𝑎𝑠𝑠 𝑜𝑓 𝑜𝑏𝑗𝑒𝑐𝑡 𝑖𝑠 𝑖𝑟𝑟𝑒𝑙𝑒𝑣𝑎𝑛𝑡

𝑎௖ =
𝑣ଶ

𝑟
⎯⎯⎯100

𝐸𝑎𝑟𝑡ℎ

𝑂𝑟𝑏𝑖𝑡

𝐸௣ = −
𝐺𝑀𝑚

𝑟
⎯⎯⎯⎯⎯

𝐸௣ = −
6.67𝐸 − 11(5.98𝐸24)(100)

6.38𝐸6
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝐸௣ = −6.25𝐸9 𝐽

𝐸௣ = −
𝐺𝑀𝑚

𝑟
⎯⎯⎯⎯⎯

𝐸௣ = −
6.67𝐸 − 11(5.98𝐸24)(100)

6.38𝐸6 + 250000
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝐸௣ = −6.01𝐸9 𝐽

𝐸௞ =
1

2
⎯⎯ 𝑚𝑣ଶ

𝐸௞ = 0

𝐸௞ =
1

2
⎯⎯ 𝑚𝑣ଶ

𝐸௞ =
1

2
⎯⎯(100)(7756.338)ଶ

𝐸௞ = 3.01𝐸9 𝐽

𝑊 = ∆𝐸
𝑊 = ∆𝐸௣ + ∆𝐸௞

𝑊 = ൫𝐸௣௙ − 𝐸௣௜൯ + ൫𝐸௞௙ − 𝐸௞௜൯

𝑊 = ൫−6.01𝐸9 − (−6.25𝐸9)൯ + (3.01𝐸9 − 0)

𝑊 = 3.26𝐸9 𝐽

; 𝐸௞௜ = 0

𝐹௖ = 𝐹௖
; 𝑂𝑟𝑏𝑖𝑡

       𝐸௣௜ + 𝐸௞௜ + 𝑊 = 𝐸௣௙ + 𝐸௞௙

−6.25𝐸9 + 0 + 𝑊 = −6.01𝐸9 + 3.01𝐸9
                              𝑊 = ⋯ Or

To Change Orbit 𝑣 = #

𝑊 = 𝐺𝑀𝑚 ቆ
1

𝑟௜
⎯⎯−

1

𝑟௙
⎯⎯ቇ + ቆ

1

2
⎯⎯𝑚𝑣௙

ଶ −
1

2
⎯⎯𝑚𝑣௜ቇ

𝑊 =
𝐺𝑀𝑚

2
⎯⎯⎯⎯⎯൭ቆ

2

𝑟௜
⎯⎯−

2

𝑟௙
⎯⎯ቇ + ൫𝑣௙

ଶ − 𝑣௜
ଶ൯൱

…
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